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HW # 2: Load Flow 
 
 

Key Solutions 
 
 

From Text:  6.1; 6.7;  6.12 
 
Extra Problems: 
 
Problem # 1) 
In the power system below, bus 1 is considered as a swing bus with V1 = 1.0 angle 0o. 
The line impedance is given in per unit with respect to 100-MVA base. 

 

 

a) Perform two iterations of Gauss-Siedal method to determine V2. Assume an initial 
estimate of V2

(0) = 1.0  + j0 
b) Assume the voltage at bus 2 converges to V2

(2) = 0.90 – j0.10, determine the S1 
and the power loss in the line. 

 

 

Due Dates: 

UTR Classes: Oct. 8th 2013. 

MW Classes: Oct. 7th 2013 

 

 



 

 
 

 

 

 



 

 



 

 



 

 

 

 



 

 

 

 

 

 

 



 

 

 



 

 

 



 

 



 

 

 



 



 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 



Problem # 1) 

 

 

 

 

 

 

 

 

 


